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Chemistry 11
Density Worksheet

Directions: Answer in the space provided. Be sure to show ALL your work.
Have fun and remember Chem-is-try ©

1. A 350.0 mL chunk of boron has a mass of 8.19g. What is the density of boron?
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2. Alcohol has a density of 0.789 g/mL. What volume of alcohol is heeded if you

require 49 g of alcohol? =

3. Beeswax has a density of 961 g/L. If a block of beeswax has a volume of
200.0 mL, what is the mass of the block?
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4. 25.0 mL's of w, x, y and z are poured into a 150.0 ml graduated cylinder. Each
of the 4 compounds is a liquid and each one will not dissolve in the other. If
55.0 mL of w has a mass of 107.3 g, 12.0 mL of x has a mass of 51.8g, 42.5 mL
of y has a mass of 46.8g and 115.0 mL of z has a mass of 74.8g, list the layers
found in the cylinder (from top to bottom. Hint - Find the densitieslil)
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5. The density of copper is 8. 929/mL and ‘rhe densnTy of magnesium is 1.74g/mL.
What mass of magnesuum occuples the same volume as 100.0g of copper? '
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7. A sample of mér'cur'y has a mass of 6.00 x 10° g. If the density of mercury is
13.6 g/mL, what is the volume, in liters, of the sample?
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8. A diamond has a density of 3.51 x 10° g/L Ifa diamond has a volume of 0.440
mL, calculate the mass of the diamond.
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